1000/ do)/dm [1/GeV]

Ratio to CMS

10

1074

0.5

7000 GeV pp Z+Jet
_| T I T I I T I | I I T I I T |_ _‘(L)
- 18
= Pruned Jet Mass(CA(0.8), 125<p <150, |y|<2.5) =3
— =
L —N
B —0
- N
= ==
— 1
B ™
= _|o
= 5=
— =4
— 1=
™
= — <
— = m
— = e
— N Jo
- N 1M
—
= . \\\ —— 2
= m CMS o\ = >%
— --3-- Herwig 7.2.0 default ‘ e
_ —&— Pythia 8.170 default B
= ¢ Sherpa 2.1.1 default =i
Jw
ks
— —_
= =3
= . N . | . N H &
:| T T T T [ T T T T |:
- 32
- . g =
LV / -
' 1
e o5
| 1 1 L 1 1 | 1 1 I 1 1 " |
0 50 100



	Contents
	Page 1


